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    ν[i] ←0 

 

ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 
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    ν[Α[i]] ← ν[Α[i]]+1 
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     Εμφάνισε “το”,A[i],ν[i],”φορές” 

 
ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

 

Πρώτα  οι μετρητές μηδενίζονται 

 

για i=1: ν[3]= ν[3]+1=0+1=1 
 

για i=2: ν[2]= ν[2]+1=0+1=1 

 

για i=3: ν[1]= ν[2]+1=0+1=1 

 

για i=4: ν[2]= ν[2]+1=1+1=2 

 

για i=5: ν[3]= ν[3]+1=1+1=2 

 

για i=6: ν[4]= ν[4]+1=0+1=1 

 

για i=7: ν[5]= ν[5]+1=0+1=1 

 

για i=8: ν[3]= ν[3]+1=2+1=3 

Το 3  3 φορές 

Το 2  2 φορές 
Το 1  1 φορές 

Το 2  2 φορές 

Το 3  3 φορές 

Το 4  1 φορές 

Το 5  1 φορές 

Το 3  3 φορές 

 

  

Α= 3 2 1 2 3 4 5 3 

 


